18.10.3.1.3 For walls with h,,../f,, < 2.0, ®, shall be taken
as 1.0. Otherwise, ®, shall be calculated as:

®, =09+ n <6
(18.10.3.1.3)
® =13+~ <18 n >6
30

where n, shall not be taken less than the quantity 0.000284,,.
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Table 18.10.3.1.2—Overstrength factor Q, at critical
section

Condition Q,
My/M
P! Gy > 1.5 Greater of
1.5t
Pyl by < 1.5 1.0

[l For the load combination producing the largest value of Q,,

[2] Unless a more detailed analysis demonstrated a smaller value, but not less than 1.0.
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If the factored shear force at a given level in a structure 1s OLES g w36 ankad Ay ot s 4 b o Ko 3 bl _sas oslizul L5 ol
resisted by|several walls or several vertical wall segmentsjof
aperforated wall, the average unit shear strength assumed for

the total available cross-sectional area is limited to 0.66 / f

1) o 03l

with the additional requirement that the unit shear strength /I/

assigned to any single vertical wall segment does not exceed

0.83 .\/TC’ . The upper limit of strength to be assigned to any — Vertical

one member 1s imposed to limit the degree of redistribution X wall segment

of shear force.
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The question is that according to section 18.10.4.4 in the picture below
in each story Vn shall not be taken greater than 0.66 (f'c"0.5) Acv and
for any one of the individual vertical walls (Walll, Wall2 or Wall3), Vn
shall not be taken greater than 0.83 (f'c™0.5) Acw, where Acv is the sum
of the gross web area for Walll, Wall2, and Wall3. Is that correct?
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Best Regards,
Amir Ashtari,
Dear Amir,

Yes, that is the right interpretation of the code with the understanding
of the definitions of Acv and Acw provided in Section 2. It appears that
there is a load path such that the three walls shown will support lateral

load, thus your interpretation appears correct.

Sincerely,

Technical Staff
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